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Worksheet 8 Math 105, Fall 2018

(b) For each critical number you found, determine whether it is a local max, local min, or
neither.

(c) Is f"(—2) positive or negative? From this, what can you say about the concavity of the
original function f(z) at z = —27?

5. Let f(z) = 23 + 322 — 1.

(a) Compute f'(z) and factor it.

(b) Determine the critical numbers of f (z).

(c) Find the intervals on which f(x) is increasing and decreasing, and list any local min(s)
and max(s). Give both the z and y-coordinates.

(d) Compute f"(x).

(e) Find the intervals on which f (z) is concave up and concave down, and list any inflection
point(s). Give both = and y-coordinates for these.

(f) Plot the local min(s) and max(s) you found in in parts (5c) and (5e) on the axes below
(or on your own sheet of paper). Use these to give a rough sketch of the curve. Make
sure it is increasing/decreasing on the right intervals, and concave up/down in the right
places.
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